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1. R A
(1) BEAENFT —EEF (RLE+, BIEHE-. FE* #I0E/)
>1 + 2
[1] 3
(2) ZHOFH—x. y
> X <- 10
>y <- 20
(3) ZHORELE
>Z=X+Yy
(4) FEROER
> Zz
[1] 30
> (z = x *y)
(5) R LRIRHCRER 2R — O THTe
[1] 200
(6) X7 MNVDEH
> vl <- c(1, 2, 3, 2, 1)

> v2 <- c(10, 20, 30, 40, 50)



(7) ~7 PVORLE =SS DAEOH TR EOR LA
> (plus_viv2 = vl + v2)
[1] 11 22 33 42 51
(8) ~7 o (column : Fl) o il rbind()23® % (row : 1T)

> (set_viv2 = cbind(v1l, v2))

vl v2
[1,1] 1 1o
[2,] 2 20
[3,] 3 30
[4,] 2 40
[5,] 1 5@

(9) FHDFE — IS mean()
> mean(plus_viv2)
[1] 31.8

(10) T —FOEMEHR (R/ME. 281 WMo, A7 47 >, %3 Uik, H&KAE)
> summary(plus_viv2)

Min. 1st Qu. Median Mean 3rd Qu. Max.
11.0 22.0 33.0 31.8 42.0 51.0

(11) o7 w v b GF1Flzki, 5 2 5z Ht)

> plot(set_viv2, type = "0", col = "blue")
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(12) ==L T77ANDFIiAS, B library( )ZHW Ty 7 — readxl # L H)
> library(readxl)
(13) B8%tread_excel( YDFIH, /R « 77 A VL EFRE
> tokyo_drink <- read_excel("C:/data/tokyo_drink.x1lsx")
(14) FHAENTT —HE > b tokyo_drink Za & — (td)
> td <- tokyo_drink
(15)  BI% Im() Z N TRIF ST O AT
ETTNOEN : HERA~HALE 1+ LR 2+
> 1Im_result <- Im(td$fEHIERE ~ td$XiR + td$iZ/E + td$ LAHAY I —)
fERDOFRR « B summary () OFIH
> summary(1lm _result)
Call:
Im(formula = td$@CEHRERE ~ td$5UE + td$iR/Z + td$ EHHLY I —)

Residuals:



Min 1Q  Median 3Q Max
-142.718 -49.742 5.141 46.590 127.925

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) 374.9633 14.5686 25.738 <2e-16 ***
td$ <R 5.8803 0.4914 11.965 <2e-16 ***
td$im 0.4903 9.2318 2.115 0.0351 *
td$ - HMZ I — -86.7386 6.9676 -12.449 <2e-16 ***
Signif. codes: @ '***' 9,001 '**' @.01 '*' 0.05 '.' 0.1 ' ' 1

Residual standard error: 62.69 on 362 degrees of freedom
Multiple R-squared: ©.5183, Adjusted R-squared: 0.5143
F-statistic: 129.8 on 3 and 362 DF, p-value: < 2.2e-16

(16)  BIDEIFET /LOIERL Im_res2, 1m_res3

ol

> 1Im_res2 <- lm(td$fREHKTEE ~ tdsXiR + tds LHMLY I—)

ol

> 1m_res3 <- Im(td$fREHRFERE ~ td$iBE + td$ LAY I—)
(17) Yy 57— memisc DOELH)
> library(memisc)

Loading required package: lattice

Loading required package: MASS

Attaching package: 'memisc’

The following object is masked from 'package:car':
recode

The following objects are masked from 'package:stats':
contr.sum, contr.treatment, contrasts

The following object is masked from 'package:base':
as.array

(18)  Bi%mtable() ZFIM L C. HE DRI IHT DR O H
> mtable(1lm_result, 1lm_res2, 1lm_res3)

Calls:
Im_result: lm(formula = td$#EHEFEE ~ td$XUE + td$i/E + td$ L HHLY I —)



Im_res2: 1lm(formula
Im_res3: 1lm(formula

td$fiokHk e &
td$fiokHk e &

~ td$KiE + td$ L HMLY I —)
~ td$IRE + td$ LAWY I —)

Im_result Im_res2 Im_res3
(Intercept) 374.963***  400.563*** 376,813***
(14.569) (8.151) (17.185)
td$ Ul 5.880*** 6.394%**
(0.491) (0.429)
td$im L 0.490%* 1.860%**
(0.232) (0.238)
td$ L HRA I —  -86.739%*%* -87.746%** -84 283***
(6.968) (6.984) (8.216)
R-squared 0.518 0.512 0.328
N 366 366 366
Significance: *** = p < 0.001; ** = p < 0.01;
* = p < 0.05



2. BIHET —Z DT

> library(readxl)
(19) =7 EBAT—FDOHHRH

> elec_weather <- read_excel("C:/data/elec_weather.xlsx")
(20) 1Y HSEHOHE

> Im_name <- c("FEH A", "HA", "FHor LHM", ", "HAEES (1 FFHEE
fir) ", "HOL_SUR (1 REEEAD) v,
+ "HO_MOKE (1 BAFHE) M)

(21) WMERT—FZOHVHL
> elwe <- elec_weather[, 1lm_name]
(22) ZEHADOEH

> names(elwe) <- c("ymd", "month", "hei dns", "hour", "elec", "atemp",
"wdrop")

(23) BAAXOVER (plot (I HL 2D A%, Ml E 5 2%0)

Col (color: fDIEE)

> plot(elwe$atemp, elwe$elec, col = "green")
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> plot(elwe$wdrop, elwe$elec, col = "blue")
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(24) ¥ atemp D 2 FDAESL atemp2 DB
> elwe$atemp2 <- elwe$atemp”2

(25) A% atemp D 3 DAL atemp3 DB
> elwe$atemp3 <- elwe$atemp”3

(26) "X —Z % wadr_dummy OfERL (&= wdrop BRIE(>0)DE X, 1, oLt X, )
> elwe$wadr_dummy <- ifelse(elwe$wdrop > 0, 1, 0)

(27)  EMmsSAT (2 3%, 3ROE, ¥ I —EHOFIH)

> 1Im rel <- lm(elwe$elec ~ elwe$atemp + elwe$atemp2 + elwe$atemp3 + el
we$wadr_dummy)

(28) ET/V1m_rel OEIFEHOFR (B coef () DFIH)
> coef(1lm_rel)

(Intercept) elwe$atemp elwe$atemp2 elwe$atemp3
3453.6410544 35.4280133 -8.5273962 0.2650495



elwe$wadr_dummy
68.5061220

(29) [ERfREzE 7 7 A MIZEZ AL (B write. table())
sep (separator:sep = "," Hr~<XEIn)

> write.table(coef(1lm rel), "C:/data/lm coefl.csv", sep = ",")



